RONIX

Premium Quality

0901

Www.ronixtools.com Cut'Oﬁ SaW 355mm



RONIX

Premium Quality

POWER TOOLS

www.ronixtools.com

Number | Name Number | Name Number | Name

1 Hexagon socket head cap screws M10X20 33 Baffle plate 65 Hexagon socket head cap screws M6X12
2 Small flange ¢45 34 Cross recessed pan head screws ST5X80 66 Pin

3 Press plate $90 35 Spring washer ¢5 67 Oring 5X1.5

4 Abrasive Cutting blade 36 Stator 68 Open ring 6

5 Cross recessed pan head screws M5X25 37 Plastic motor Housing 69 Bolt cap assembly

6 Fix Guard 38 Carbon brusher holder 70 Baseplate

7 Hexagonal screw with step M6 40 Carbon brusher cover 71 Rubber holder

8 Cross head screws with step M6 39 Carbon brusher 72 Hexagon lock nut M6
9 Anti-Vibration Pillar 41 Cross recessed pan head screws M5X55 73 Allen key holder

10 Movable Guard protector pillar 42 Rear cover 74 Allen key

11 Movable Guard 43 Cross recessed pan head screws ST4X14 75 Spring washer 10

12 Paper insert 8 44 Hexagon socket fix screws M5X8 76 Angle plate

13 Hexagonal lock screw M6 45 Right handle 77 Movable Jaw

14 Spindle 46 Cross recessed pan head screws ST4X7 78 Quick release nut

15 woodruff key 4X13 47 Switch 79 Elastic cylindrical pin
16 WTOO6203RS bearing 48 Cable press plate 80 Rod Support

17 Front cover 49 Capacitor 81 Hexagon socket head cap screws M8X25
18 Oring $52.8X1.2 50 Left handle 82 Spring washer 8

19 Big Gear 51 Cross recessed pan head screws ST4X16 83 Circlipl6

20 Srap ring 16 52 Cross recessed pan head screws M5X30 84 Open Pin

21 WTOO6000Z bearing 53 Cable protector 85 Flate washer 8

22 Gear Box 54 Cable 86 Pin

23 Rectangle ring $35X1.5 55 Cross recessed pan head screws M6X12 87 Rod assembly

24 NSK6202DU bearing 56 Srap ring 6

25 Anti-dust washer 57 Spark cover

26 Spring 58 Hexagonal fix screw M10

27 Brake lever positioning sleeve 59 Flate washer 10

28 Brake lever 60 hinged lever

29 Armature 61 torsional spring

30 Creepage ring 62 Hexagon socket head cap screws M10X45

31 NSK629DW bearing 63 Screw sleeve

32 bearing sleeve 64 Screw M10

0901

Cut-Off Saw 355mm



